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Single Event Probability.

There are 8 counters in a box numbered 1.2, 3.4, 5, 6.7 and 8. If one
counter 15 drawn out at random, what = the probabality that it 1s a counter :-

a),  with an odd number, by, with an even number,
¢).  with a square number, dy.  thatis greater than or equal to 6 7

I have a pack of playing cards, contaimng 52 cards, [ pick a card at random, What 15 the
probability that the card 1 select 1s :-

a), aKing, bi.  adiamond,

¢). ablack camd, dy.  the Jack of clubs 7

There are four different coloured writing pads. In a pack there are 3 blue, 8 red. 1 white
and 4 green. What 15 the probability when [ open a new pack | randomly peck a :-

a). blue pad, b). rmed pad, ¢). while pad,
d).  green pad, e).  yellow pad, f). redor green pad 7
n 1 Draw the number lme in your book. The number line represents
o 1 all possible probabalities. Indicate, by amrows labelled "a" to "™ the
probabilibies for :-

a), throwmg a TAIL on a coin, by. cutting a dismond from a pack of cands,
¢).  Saturday following Friday, dy.  the water being cut off today,
e).  scormg a2 ora 3 ona dice, ).  your teacher becoming a dinosaur.

Armange these events i order of which 1s "most likely” down to which 1s "least hkely™:-
a), Throwmg adice and getting a " 1", — ;
b). Being born on a day with "y" m 1t.
¢).  Spinning a coin and it landing "wmils",
d). Somebody having their birthday on New Year's day.

Armnge these events in order of which is "most Ikely” down to which is "least likely™
a). Pickmg ared card from a pack of cards.
b). A fair 4 sided spinner labelled 1,2, 3 and 4 landing on 4.
¢). Eatmg a meal some time this month.
d). Winning the jackpot of the National Lottery.

A hiased coin has a probablity of landing on heads of (0.6, What is the probability of
landing on tails ?

Another biased coin has a probability of landing on tails of 033, What is the probability of
landing on heads 7

Year 9 and Year 10 boys play a football match with a penalty shoot-out, so the wams
cannot draw. The probability of Year 9 winming is 0.42, what is the probability of Year 10
boys winning ¥

Year 7 and Year 8 girls play a netball match with a penalty shoot-out, so the teams cannot
draw. The probability of Year 8 wimning 15 (.76, what % the probability of Year 7 wmning ?

Ben plays a game of chess against a computer, it cannot draw. The computer 15 set Lo
have a0.57 chance of winnmg the game . What s the probability that Ben wins the game



18],

193.

12). A second computer 15 programmed so that the chance 1t loses 15 (0.24 and the chance it
draws 15 0.4, What 15 the probability that 1t wms ?

[3). Ima 50 pence cash bag there are three 1 pence comns, four 2 pence coins, $ix 5 pence coins
and two 10 pence coin. If 4 comn is drawn at random, what is the probability that the coin -

15 & COPPeT com,

is nol 4 copper coin,

al.

d.

154 lp,
isalporasp,

b,
e).

¢l 1snolaSpor 10p,

fi. ismwialp 2porsSp?

[4). Aboxcontains 2 Bue dises, 6 green dises and 10 med dises, If a dise s preked at random
what is the probability of getting :-

daj.
d).

[5). In anexperiment, 65 seeds are sown, but only 37 germinate,

i),

b

da blue disc,

a blue or green disc,

bi.
e).

a green disc,
nil 4 green disc,

What 15 the expermmental probabihity of a seed
ii). not germmating 7

i). germinating,

If 455 seeds are sown, what number might be expected to germunate 7§

¢). 4 blue or red disc,

f). ablue, green or red disc ?

16). Inan experiment, 60 drawing pins were thrown. 42 landed point up. the rest point down,
What is the experimental probability of a drawing pin landing
point down ?
If 170 drawing pins are thrown, what number might be expected o land point down'?

ak

b).

1), point up,

).

7). Here are the results of a survey of cars passing the school.

a).

b.
c).
d).

i),
1),
b,
ch,
dh.

Colour

Red

Blue

Green Yellow Other

MNumber of cars

23

36

12

1] 3

1), med, i1).
If 430 cars pass the school, how many do you think would be blue 7

1§ 720 cars pass the school, how many do you think would be yellow 7
If 45 cars pass the school, how many do you think would be blue 7

green,

1.

yellow,

What 15 the proballity of the next car passing the school being

ivl. nolblue ?

Andrew and Gordon conduct a survey on pupils favourite pets. Here are the results:-

Pet

Cat

Chimp

Dog

Bird Other

Frequency

12

4

27

6

1

What is the probability of a pupil's favourite pet being:

a cat., 1.

rest were on time.
Whut 18 the probability that the next bus will be:

ah.

b,
ch
dj.

i). late, ).

expect o be late 7

a chimp,
1225 pupils were asked, how many would say they preferred acat ?
1t 75 pupils were asked, how many would say they preferred a chimp ?
If 675 pupils were asked how many would say they preferred a bind ?

early,
48 buses amive in the aftemoon, how many would you expect on time ?
Tomormw 112 buses are due., how many would yvou expect to be carly 7
Ths week 776 buses should come through Horwach Ternunal, how many would you

).

a bard,

i1},

v ),

on time 7

nol adog

B0 buses armved at Horwich Terminal this moming. 15 arnved early. 10 were late and the




